CER IR

F=IaE-

it 1

"109& § 2 AMARLFRFT R 2 BHRAP &

[ &

L& BFK)] (R3gH : #74 %30,000,000% )

we | o WA P WHR P
AR S MEL BEE P LHE SRR S ¥
B | B P (38) (=)
[ &3]
1 101 A AR S 30 $2,200
(4F ~ &)
[‘kA&44])
TEEERE
2 102
02 | J|nuh 2,000 $6,600
(A7 Tapm,)
PRI & 5]
31103 | % [£42REHRE 100 $2,200
(47 ~ &)
(ERSEREED
4 [ 104 | S |[E&BEEE 300 $6,600
(B~ &~ &)
[&7 kasg]
5 105 LEHERE 1 $3,850
(7~ & -~ &)
(s
6 | 106 LRI r 36 $6,600
(5 ~ &~ 4) ’
(A7 TaEpr )
(@2
7| 108 LehRERSE 200 $2,200
*T (4 ~ & ~ &~ &) !
(23 Tapm,)
(4% k)
LA ERE
8 109 (i1 % 22 5 $5,500
(PET% ®# ;?i—’*“*n%% T8 )
[rriry ]
9 110 fARIERE 1 $2,200
(AEEF A &)
[oHa] € 42 LR
(8 ~ 7~ 45)
10 | 111 | % (2 BsE i 40 ,) 200 $4,400
(PETE B¢ 4ok T4 )
[62]
11 | 12 A S S 30 $8,800
(4F ~ 45 ~ B0 ~ &~ 4)
[# % 4 47]
12 | 13 | J |[£4FEEE 2,000 $2,200
(4% ~ &)
(344 54]
13 | 114 (ep 2V AR ) 100 $1,100
& B NERE (45 - &)

M- 1 H 4 H
[&REEHHK]




2 v A k=1, <3 ‘fvl' ii 1
CERCIILLE R S F
T109F 6 F-2 M A RL ki E , L R%RAP 4
[s5f 28 BEK)]) (L7 E : #4 %30,000,000~)
we | o WA P WP
AR S MEL BEE P LHE SRR S ¥
(5§
14 |1 115 | % |24k BEE 100 $2,200
(48 - &)
(=287 ¢ %]
15 | 116 AT A AR N2 10 $2,200
(AL 8- &)
16 | 160 RE LR 50 $1,650
17 | 164 | vk |4 100 $1,650
18 | 165 | v |7 &A 750 $5,500
19 | 166 | % |4 750 $1,650
20 | 167 4 1 $1,650
21 | 169 | S |@ 200 $1,650
22 | 170 # 1 $1,650
23 [ 111 | w |& 200 $1,650
24 [ 172 | % |& 300 $1,650
25 | 183 | S |mipm 200 $5,500
26 | Ko1 2 4 1 $2,200
A
27 | K02 (2 ap = 5 ) 1 $2,200
28 | Ko3 i e 1 $2,200

Ml -2 H 4 H
[&REEHHK]




el IR

F=IaE-

it 1

"109& § 2 AMARLFRFT R 2 BHRAP &

[s5f 28 BEK)]) (L7 E : #4 %30,000,000~)
wa | o W% P WP
AR S MEL BEE P LHE SRR S ¥

AR

29 | Ko4 2,200
(53) ' $
oA

30 | Kos 2,200
(5 ) 1 $
[ &%)

31 | K06 fhaEIRLE 1 $2,200
(45)
[ s 5]

32 | Ko7 thEEIERE 1 $2,200
(45 ~ 47 ~ &)
[ %47]

33 | Ko8 FAEEERE 1 $2,200
€D)
[%;Aqﬁiﬁ]

34 | K09 fApERE 1 $2,200
€D)

35 | KYA — Ak kR A 1 $1,000

36 | KYB Lkt F TA 1T 1 $1,000
F Tk 3 A 45 (AAS)

37 | KYC (“ RECF NS X FA WU 1 $1,000

LR % }\)

38 | KYD B e A& A 472 (DMA) 1 $2,000

39 | KYE B3 % %k A 47 (AFS) 1 $1,000
4+ £ # T & (ion-selective

40 | KYF electrode) & 4 1 $2,000
HPLCA 4%

41 | KYG 455 117 (3) 1 $3,000
HPLCA 4%

42 | KYH (55 5 & 111 (1)) 1 $4,000
ICP-OES

43 | KyI 45 5 5 115 (5)) 1 $3,150

Ml -3 H L4 H

[&REEHHK]




FramflIns R EF P RE

4.
I"

4

=

1

"109# 8§ %2 M AL =% 4 ) 2R%FAP £
[6 %€ £ B (K] (REE : #74 % 30,000,000~ )

wa | o W% P WP

RE| e | % BERAD LA AR RS ik
ICP-OES

44 | KYJ (55 5 > 111 (3)) 1 $4,100
ICP/MS A 5

45 | KYK @55 115 (5)) 1 $3,000
ICP/MS A 5

46 | KYL (55 % 4 111 (3)) 1 $4,000
LC/ICPIMS 4" 5

47 | KYM 5 2 117 (3) 1 $4,000
LC/ICPIMS 4" 5

48 | KYN (55 5 2 111 (3)) 1 $5,500

Ml -4 H L4 H
[&REEHHK]




